Efficiency vs P,

- 0.2
o

ERRTE SRR N — S—

> F : :
SN0 JT:| SEPTRTTPRTE SUPRPRLRRS Rt e
5} N N

o
20.14
O]

0.12

I S S S
9 SIS J S
N SIS S S
OV O A AU -
A S WS SO

.................................................

[y

107 1 10 prT (Ge\})o3

—=#— DQM_CKF_TT_base_noSel

—— DQM_CKF_TT_baseT125_noSel

= 0.2
2
20.18
2
§0.16
o
£0.14
(]
0.12
0.1
0.08

0.06f-
0.04f--

0.02

Y| ST

...............................................

Ratio

0.950

Efficiency vs ¢

s 0.1
g
20.09

2 :
g 0.08F
&) .
£0.07E
[0

0.06)
0.05
0.04

0.03E
0.02F -+
0.01E

..............................................

TR
=
=
——
+
oges

Lllllllll.lllll.lllll.l
o
prd
£

FRVS)

Ratio

0 1

0.95L1

TP @



	Contents
	Page 1


